

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SLM 8051P

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	BONNET	DENTED	686.90	686.90
1	BONNET END SEAL (OUTER)	NECESSARY	65.80	38.60
1	BONNET END SEAL (INNER)	NECESSARY	24.30	24.30
2	BONNET HINGE LH / RH @\$57.40	BENT	114.80	114.80
1	BONNET INSULATOR	NOT NECESSARY	184.80	-
6	BONNET INSULATOR CLIPS @\$5.30	NOT NECESSARY	31.80	-
1	BONNET LOCK	JAMMED	98.10	98.10
2	HEADLAMP LH / RH @\$697.50	BROKEN	1,395.00	1,207.00
2	HEADLAMP UNDER BRACKET LH / RH @\$60.30	BROKEN	120.60	120.60
1	FRONT BUMPER	DENTED	655.60	655.60
1	FRONT BUMPER CENTRE GRILLE	NOT DAMAGED	42.10	-
1	FRONT BUMPER REINFORCEMENT	DENTED	286.80	286.80
2	FRONT BUMPER RETAINER LH / RH @\$45.10	NECESSARY	90.20	90.20
8	FRONT BUMPER CLIPS @\$3.30	NECESSARY	26.40	26.40
1	RHF FENDER	DENTED	667.40	486.20
1	RHF FENDER LINING	NOT DAMAGED	117.10	-
1	RHF FENDER INNER GARNISH	NOT DAMAGED	66.70	-
4	RHF FENDER INNER GARNISH CLIPS @\$3.70	NOT NECESSARY	14.80	-
1	FRONT WINDSCREEN GLASS	BROKEN	1,361.70	1,361.70
1	FRONT WINDSCREEN MOULDING	NECESSARY	65.40	65.40
1	RADIATOR SUPPORT PANEL	DENTED	565.20	546.20
1	RADIATOR SUPPORT PANEL COVER	NOT DAMAGED	159.30	-
5	RADIATOR SUPPORT PANEL COVER CLIPS @\$3.50	NOT NECESSARY	17.50	-
1	AIRCON CONDENSER	DENTED	862.60	862.60
1	AIRCON FAN SHROUD	DENTED	199.40	129.00
1	AIRCON FAN BLADE	BENT	48.60	48.60
1	AIRCON FAN MOTOR	NOT DAMAGED	85.10	-
1	AIRCON SUCTION PIPE	NOT DAMAGED	97.20	-
1	AIRCON DISCHARGE HOSE	NOT DAMAGED	218.80	-
1	RADIATOR	DENTED	1,483.10	1,483.10
1	RADIATOR TOP HOSE	NOT DAMAGED	89.80	-

Report Ref No. CS3/LPC21007040/Buf3e2-1



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	RADIATOR LOWER HOSE	NOT DAMAGED	94.70	-
1	RADIATOR SPARE TANK	NOT DAMAGED	246.90	-
1	RADIATOR FAN SHROUD	CRACKED	139.40	139.40
1	RADIATOR FAN BLADE	BENT	58.40	58.40
1	RADIATOR FAN MOTOR	NOT DAMAGED	316.00	-
1	HORN	NOT DAMAGED	80.90	-
1	REAR BUMPER	DENTED	966.40	683.00
1	REAR BUMPER TOW HOOK COVER	NOT DAMAGED	23.50	-
2	REAR BUMPER RETAINER LH / RH @\$35.70	NECESSARY	71.40	71.40
2	REAR BUMPER BRACKET LH / RH @\$40.30	NOT DAMAGED	80.60	-
8	REAR BUMPER CLIPS @\$3.30	NECESSARY	26.40	26.40
2	TAIL LAMP LH / RH @\$498.90	BROKEN	997.80	777.00
1	TAIL LAMP PANEL RH	DENTED	369.30	298.10
3	TAIL LAMP CLIPS @\$3.90	NECESSARY	11.70	11.70
1	TAILGATE	DENTED	1,335.60	962.30
1	TAILGATE GLASS MOUDLING (UPPER)	NECESSARY	31.60	31.60
1	TAILGATE GLASS MOULDING (LOWER)	NECESSARY	31.60	31.60
2	TAILGATE GLASS MOULDING (SIDE) @\$28.30	NECESSARY	56.60	56.60
1	TAILGATE OUTER GARNISH	BROKEN	237.20	184.20
1	TAILGATE EMBLEM	NECESSARY	40.30	40.30
1	TAILGATE NAMEPLATE 'STREAM'	NECESSARY	52.10	52.10
1	TAILGATE OUTER HANDLE	NOT DAMAGED	80.30	-
2	TAILGATE ABSORBER LH / RH @\$210.60	NOT DAMAGED	421.20	-
1	TAILGATE WIPER MOTOR	NOT DAMAGED	660.40	-
1	TAILGATE LOCK	JAMMED	285.30	230.70
1	TAILGATE CATCH	NOT DAMAGED	38.00	-
1	TAILGATE INNER TRIM	BROKEN	490.10	311.50
1	TAILGATE INNER HANDLE	DENTED	53.60	53.60
1	TAILGATE WEATHER-STRIP	TORN	182.20	182.20
1	REAR END PANEL	DENTED	796.30	685.00
1	REAR END PANEL TOP GARNISH	BROKEN	130.90	130.90
1	REAR END PANEL BOTTOM GARNISH	BROKEN	155.30	155.30
1	SPARE TYRE CARRIER	NOT DAMAGED	331.70	-

Report Ref No. CS3/LPC21007040/Buf3e2-1



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	RHR FENDER	DENTED	882.10	798.20
1	RHR QUARTER GLASS WITH MOULDING	NECESSARY	769.40	659.80
1	RHR FENDER INNER TRIM	BROKEN	790.80	594.00
1	FLOOR PANEL	NOT DAMAGED	1,135.30	-
1	FLOOR PANEL OIL SHEET	NOT NECESSARY	105.90	-
1	EXHAUST SILENCER	NOT DAMAGED	590.70	-
2	EXHAUST MOUNTING @\$29.70	NOT DAMAGED	59.40	-
1	RHF DOOR (NPA)	TO REPAIR SEE LABOUR	-	-
	LESS 20% DISCOUNT		-4,634.04	-3,111.48
			18,536.16	12,445.92
	SPECIAL NETT ITEMS			
1	FRONT GRILLE (SN)	BROKEN	450.00	350.00
1	SET FRONT NUMBER PLATE (SN)	BROKEN	50.00	30.00
1	FRONT WINDSCREEN SEALANT (SN)	NECESSARY	60.00	40.00
1	RADIATOR COOLANT (SN)	NECESSARY	50.00	30.00
1	ERP BRACKET (SN)	NECESSARY	30.00	25.00
1	TAILGATE GLASS SEALANT (SN)	NECESSARY	60.00	40.00
1	SET REVERSE CAMERA (SN)	NOT DAMAGED	380.00	-
1	SET REVERSE SENSOR (SN)	SHORT CIRCUIT	300.00	200.00
5	JOINT SEALANT @\$60.00 (SN)	1 TUBE NECESSARY	300.00	60.00
			1,680.00	775.00
	<u>LABOUR</u>			
	CHECK FRONT SECTION LIGHTINGS & WIRINGS.		40.00	30.00
	REPLACE AIRCON CONDENSER & COOLING FAN. REFILL AIRCON GAS.		150.00	120.00
	REPLACE RADIATOR & COOLING FAN. CONDUCT ENGINE COOLING TEST.		100.00	80.00
	ANTI RUST TREATMENT ON FRONT AFFECTED PANELS.	NOT NECESSARY	50.00	-
	REPLACE FRONT WINDSCREEN GLASS.		200.00	120.00
	TO CONDUCT PANEL BEATING, WELDING, STRAIGHTEN OF DAMAGED PANELS, RENEW FRONT DAMAGED PARTS, REALIGN AFFECTED AREA. INCLUSIVE OF THE REPAIR OF RHF DOOR.		1,300.00	800.00

Report Ref No. CS3/LPC21007040/Buf3e2-1



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	SPRAY PAINTING ON FRONT REPLACEMENT & AFFECTED PARTS.		1,500.00	1,000.00
	CHECK REAR SECTION LIGHTINGS & WIRINGS.		40.00	30.00
	DISMANTLE & TRANSFER TAILGATE GLASS.		200.00	120.00
	DISMANTLE & TRANSFER TAILGATE COMPONENTS. (INCLUDE TAILGATE SPOILER).		100.00	80.00
	DISMANTLE & TRANSFER REVERSE CAMERA.	NOT NECESSARY	100.00	-
	REMOVAL & REFITTING OF REAR TRIMS, REAR SEATS TO ASSIST REPLACEMENT / REPAIRS.	NOT NECESSARY	200.00	-
	REPLACE EXHAUST MUFFLER.	NOT NECESSARY	80.00	-
	REPLACE REVERSE SENSOR.		80.00	50.00
	ANTI RUST TREATMENT ON REAR AFFECTED PANELS.	NOT NECESSARY	150.00	-
	REPLACE RHR QUARTER GLASS.		200.00	80.00
	TO CONDUCT PANEL BEATING, WELDING, STRAIGHTENING OF DAMAGED PANELS, RENEW REAR DAMAGED PARTS, REALIGN AFFECTED AREA.		2,800.00	800.00
	SPRAY PAINTING ON REAR REPLACEMENT & AFFECTED PARTS.		1,600.00	800.00
			8,890.00	4,110.00
	GRAND TOTAL		29,106.16	17,330.92

RECOMMENDED COST OF LUMP SUM REPAIRS (TO ITS PRE-ACCIDENT CONDITION) 10,100.00

Report Ref No. CS3/LPC21007040/Buf3e2-1

MARKET VALUE: \$18,000.00 (EST)-LTA REIMBURSEMENT VALUE: \$7,825.00=NETT VALUE: \$10,175.00

LIM TEOW GUAN

Automotive Assessor

ANG BRYAN TANI

Automotive Assessor / Investigator